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SEE 2081 (2025)
Afard e

qwg : 3 " QUITEF : &y,

RegaaT Frdoraer SmareAT ATt didtar Rrdf@renss gav Rahy

¥ qYAe® AfAard B | (Answer all the questions.)

1.

TS faaEaa ST TN yegeta famdirears e ¥ ST
TN ST N THIAT A IIGH &8 T TRCF FAEOTAT 60 ST
THER, 40 T st T 20 97 faardieea g3 39 SUgHE & 9y
T 10 T A7 TEWT F 9 39 IIGH g Fai |
In a survey conducted on the students studying in class ten of a school
to determine suitable place for educational tours to Janakpur and
Birgunj. It was found that 60 students considered Janakpur,
40 students considered Birgunj and 20 students considered both places
suitable but 10 students did not consider any of the two places suitable.
(a) ') T 'B' 9 HHM TR ¥ faere IE g8 W faardieear
TMUTATCH T HS_EF-HR! o Ejﬁlﬂ |
If')' and 'B' denote the set of students who prefer Janakpur and
Birgunj respectively. Write the set of students who considered as

both places suitable in cardinality notation. (N
(b) wigE FTAFTAETS AATTTAT IR T |
Present the above information in a Venn diagram. ()]

(c) S Faarerawr Fen T Fa a1 faardieE 9uIgEeE w@ed ¢ T
TIMSTRTH |
How many students are studying in class ten in the school? Find it.
3)
(d) afR Fdenm F 9 o9 I AR a@ngE 10 w9 ey
THI AR |
If 10 students who did not consider any of the two places suitable
had said Janakpur as a suitable place, then what would be the ratio
of students who consider only Janakpur and only Birgunj as the
suitable place? Find it, (1)
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afrerer $.2,00,000 =it 10% 6T SATSTETT TIEr SZHaT 2 TUBT AT

T RS |

Anil

deposited Rs.2,00,000 in a Bank at the rate of 10% p.a. compound

interest for 2 years.

v (3)

" (b)

_(©)

Juifass ThIg =TS 99T AT qF TEfRr |

Write the formula for finding quarterly compound interest. (1)

A 2 9YHT Fid IS T AT IICSHA 7 TAT AMSTEA |
How much annual . compound interest did Anil receive in 2 years?
Findit. #2000 (2)

afy FEar G AEHT AINF ARRT AR GESTAT  AdAIgE
ﬁum&mwmmﬁraﬁmmﬁm g
If the bank provides the semiannual compound interest instead of

the annual compound interest at the same rate of mterest, how

much more interest would be received by Anil? Find it. '3132 22 A2)

Ugel ATRYIARTR! sl aa9ge 20,000 & T eldl aids waaser

3igex 3% & |

The present populauon of a municipality is 20,000 and the annual
population growth rate is 3%.

/(a) uﬁmmptmmkme ERL ]

v ®

(©)

Py 9T SIS qF A€o |
Write the formula to find the population Pr after T years if the
initial population is P and rate of annual growth is R. (D)

2 quqfy IFT RGNS ATHIEAT FId g ? TAT ST |

What will be the population of municipality after 2 years? Find it.
(1)

& TG gig T FHT TSI AT GiHAT T A 7 ATHAT

e e | |

Is the calculation process of population growth and compound

interest same? Give your opinion. (D

228 B
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Whﬁﬁﬂmaﬁmwmﬁmw(m)m
7.%.136.04 Rrar |

According to the money exchange rate of certain time, one American
dollar (S1) was equal to NRs. 136.04.

(@) 7320406 T FHa kA T ($) WA FFW ! qw

TSR |
How many American dollars (§) can be exchanged with NRs.
20,406? Find it. 1¢0 (1)
(b) AUl WETAT 2% & ¥R g2 aAfE IWR 2,500 €W Ha
AqTeT St IS FiF 7 T AMS R | )37.9608
How many Nepali rupees can be exchanged with American
dollars 2,500 when Nepali currency is devalumed bg 2%? Find it.
(2)
(c) mmmmmz%mmwm
TER 2500 QIEET Fa FH a1 F& AU gt gy T i
T Ay |
If the Nepali currency was revaluated up by 2% mstcad of
devaluation, how much less or more Nepali rupces can be
obtained while exchanging 2500 American dollars? Find it.  (2)

T YR AU RRiTASS ST 9% 24 i 7 AR @ T
14 3./ B

The vertical height of a square based pyramid is 24 cm and length of
the base side is 14 cm.

(1) S% frifwesr w@er PR AR GEWH TN SWSA qF

AeTerq |

Write the formula to find the area of a triangular surface of the

pyramid. (M
(b) ¥ Rfa=®r smgaw qar SRR | o

Find the volume of the pyramid. (2)
(c) I R Q@ qaed! Aawd g1 AS e |

Find the total surface area of the pyramid, (2)
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6. Poon @) @ deen efy waad S aw feguan v

A solid object made up of a cone and a cylinder 25
is given in the figure, o
(n)  frguay S weepn afsha aa waeee [ o -
o l."l:m?{ i ' 2 o0 N
How many curved surfaces are there in 32
the given solid object? Write it. (1) 5 i
(b) #efra Fwre qen I | |
Find the height of cone, (1) Q)\/
(¢) A 7 qFANA AR e wHE |
Compare the volume of cone and M em
cylinder. (2)

7.  USE AMATER FETHSE q94Erg, Weg 7 39 mae 18 e, 14 ftee
7 10 fve 87 | ST TR 6 R x 4 fee am A R
e 7 6 fRE x 3 fFe @1 gduirer dmes a7 )

The length, breadth and height of a rectangular classroom are-18 f,

14 fi and 10 N respectively. In the classroom, there are two windows
with size 6 ft X 4 ft and two doors with size 6 t X 3 A1,

(a) TF 7 WA ARSE Iwa Femar@l A) fawr v fafagmar ofa
THFEET 7,40 FT TG T3 AT FT T AT, 7 G0 AN |
How much does it cost to paint four walls and celling of the
classroom cxcluding doors and windows at the rate of Rs. 40 per
square feet? Find it. 3)

(b) 1z & w1 Gewa uw Frwn e 202 Fifeew @ amde aH
TH TATEISINT FE AT GRS 1T @S W Ha 7 ang 7

qd FIMSTEr |
If a painter paints 202 square feet in a day, how many days will
two painters take to paint the classroom? Find it. (1)

g, w3zl "uErAay A afier 97 7 ufkw 9F wE 5 T 329 B ) 99
qZEES] TEE 4676 7, |
The first and last terms of an arithmetic serics are 5 and
329 respectively. The sum of all terms is 4676.
(a) HHATANY ANTHT W AAFT & ¥ 1 GG |

What is called mean in arithmeltic series? Write it. (1)
(b) T4 ANTET HUIA vt qHT AIAH |
Find the common difference of the scries. (2)

HH
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(c) SH FUH dAThe 51 TS TAT A9 ggried HAUE] UTEE
TS T8 ? fewma 4 g1 ARy |
How many terms should be removed from last in the series to
make the sum 51? Find it by calculation. (2)

9. %8 ATHA Al USET UATHS HIEAHT AgFeedl Uhd 27 & | I
YEEATETE 54 ULTSN Hi GLRATH AgFaechl T Ffda |
In a positive number of two digits, the product of two digits is
27. When.54 is subtracted from the number, the places of the digits are
interchanged.
(@) afT g5 ATHA q9H IS 10X + y Iq AZFEEDH WM qRad war
I AT e |
If the two digits number be 10x + y, then write the number
obtained by interchanging its digits. (D
(b) feguar mias guEER TP aF TR FArS iy |
~ Make a quadratic equation from the given verbal problem. (2)
(c) S+ ITEAT TAT AMSTEr | . .
' Find the number. (2)

| ) o a3+1 a3-1
10. (a) T TR (Simplify): ———+ ———

(2)

(b) & I (Solve): 5° + SL" = 5-;- (3)

LI 371 P APQR, HAMINR Iqwes s T
PQRS ¥ PQTU T3¢ MR PQ T S& >
AR W@e® PQ T UR & fa=mm '
el S |
In the adjoining figure, APQR,
parallelograms PQRS and PQTU are —
standing on the same base PQ and P <o Q
between the same parallel lines PQ and ¥
UR. :
(a) TATAR TS PQRS T PQTU F1 &rthet Forerahl Wl SIeere |
Write the relation between the area of parallelograms PQRS and
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(b) Frger PQR 1 &awe AWM I PQTU &1 &%a#T 41T 73

AT JHIOTd TR )
Prove that the arca of APQR is half of the area of parallelogram
PQTU. (2)

12. feguat faam, O quar Fw=fag &1 1 W@, #=a
FT AOC TR 140° % |
In the given figure, O is the centre of the
circle. Where, central angle AOC is equal
140°,
(a) uftfireror ADC 7 919 ABC fa=rat svar
eI |
Write the relation between the inscribed
angle ADC and the arc ABC. (N

(b) FeguEr Faare ZADC #r 99 91 AR |
Find the value of ZADC from the given figure. (1)

(c) =fwa Iqs ABCD &1 wwp@ #vies ABC 7 ADC ofr7# g7
T yirmens fafiare gmfora wER ) @i 3 8.6 e
TUF F2ATET JAeE ATY0F B 1)

Experimentally verify that the opposite angles ABC and ADC of
cyclic quadrilateral ABCD are supplementary. (Two circles with
at least 3 cm radii are necessary.) (2)

13. (a) T AT=44 4., AC=5.58.M. 7 ZCAT =60° 77 Fn{&r CAT
1 = TG S e awEw dawa g4 w9 Brqa BAT @
T TR | SR, AB=6.29.07. 3
Construct a triangle CAT having sides AT =4.4 cm, AC =5.5 cm
and ZCAT = 60°. Construct another traingle BAT whose area is
equal to the area of the given triangle, where AB = 6.2 cm. (3)
(b) ACAT TABAT @1 &1 A%d & awrew WU 7 &wrvr B |
Why the area of A CAT and A BAT are equal? Give a reason. (1)
(c) a7 @wET=R I ROSE w1 w@me= ES 7 ER &1 4 fa=gs
FHI P 7 Q B W9 ywiivra TR : AROP = ASOQ.
In the parallelogram ROSE, if P and Q are any points of sides ES
and ER respectively, prove that: AROP = ASOQ. (2)

HHT.



(9) RE - 103I'LP'

14, s Fawn fasidrer @ (PQ) &1 3918

15.

18

faez @ 1 SQ & wifrw 7 fasidra avan faaad
g 758 | A, LPRT =303 R 1
In the given figure, height of the electric A Tl
pole (PQ) 1s 18 meter and height of a man v o \L

frzT 7 a3er wf s (RS) &1 I91% 15 ‘:r
g

m

(RS) is 1.5 meter. SQ represents the S
distance between electric pole and man,

where ZPRT = 30°,

(a)
(b)
()
(d)

I FIOrErs qeAiaa TR |

Define the angle of elevation. (1)
PT @1 WA T6 ®TSRIH |

Find the value of PT. (1)
FarsgeiTerT @ 7 Wi farsrarn i1 9T AR |

Find the distance between the electric pole and the man. (1)
PT 7 TR a7Ta7 9¢ S=anvt &1 &fa Bda &% @1 a1 7=3 7 o
AR |

By how many degrees will the angle of elevation less or more
when PT and TR are equal? Find it. (1)

50 geigFF uzer gframn 20 W famdiwes orE nen waF e
ateaTa fZeuat @)

The marks obtained by 20 students in an examination with full marks
50 are given in the following table.

YTATZF (Marks obtained) 0-10 | 10-20 120-30 |30-40 !40-50 |
1

faardl J£@7 (No. of students) 2 3 4 | 7 4

(a)
(b)
(c)
(d)

freuaT Aomzaadt fia 94 A9 AFE |

Write the modal class of the given data. (1)
freua1 AongFare "idd I TEAA |

Find the median from the given dala. (2)
Fra1 AvATEEATZ HA JTATEF AT THATH |

Calculate the average mark from the given data. (2)

HFZA ¢ T AWM |
How many maximum number of students could be there who
obtained the marks less than the average mark? Find 1t. ()

FAA
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16. & Rfeuar 52 afd ATE@ TEEEATE Tod FA gF AT aMRE UF uiS
I T [ R RiFTET B |
Two cards are drawn randomly one after another without replacement
from a well shuffled deck of 52 cards.
(a) afz P(AN B) = P(A) x P(B) €41 A ¥ B & UTARE TaT

ey |

If P(A N B) = P(A) x P(B), what type of events are A and B?

Write it. (1)
(b) TRUE T4 T AU WS ORUTHEEH qEAEAAErE et

TENTRY |

Show the probability of all possible outcomes of getting and not

getting king cards in a tree diagram. (2)
(c) X4 ATHEE ATCYME I YrRATHAAT TaT NS Terd |

Find the probability of getting both king cards. (1)

(d) & I AW TP TR I GEATAAT AT §6, | R fERry |
Is the probability of getting both ace of diamond possible? Give
reason. (1)
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